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Instruction :

e Answer all the questions.
Use of calculators is not allowed.

e In each of the question 1 to 50, pick one of the alternatives from (1), (2), (3), (4), (5) which is correct or most

appropriate.

1.  Who developed the first ,” Automatic Sequence Controlled Calculator”.

(1) Howard Aiken (2) Charles Babbage (3) Blaise Pascal
(4) Ada Augasta Lovelace (5) Gottfried Wilhelm Von
2. s technology was used in fourth generation computers.” Which of the following is the most suitable
word to fill in the balnk.
(1) Vacuum tube (2) Transistor (3) Integrated circuit
(4) VL-Transistor (5) Micro processor

3. Which of the follwing consisit of correct sequence of Data Processing Life Cycle.
(1) Data input, Data collecting, Data processing,Data storing ,Data Output.
(2) Data collecting, Data processing, Data storing, Data input, Data Output.
(3) Data collecting, Data input, Data processing,Data storing, Data Output.
(4) Data input, Data collecting, Data storing, Data processing,Data Output.
(5) Data input, Data processing, Data collecting,Data storing, Data Output.

4. Consider the following memory types.
A. Read Only Memory
B. Secondary Storage
C. Register Memory
D. Flash Memory
E. Random Access Memory
Which of the above can be classified as a Volatile Memory.

(1) (A) and (B) (2) (A)and (C) (3) (A)and (D) (4) (C) and (E) (5) (D) and (E)

5. 35116 (hexa decimal) is equals to...
(1) 15213 (2) 849s (3) 12513 (4) 65045 (5) 1Dg




10.

11.

12.

13.

“GPRS” stands for...................

(1) General Protocol Recall Service (2) Generation Packet Radio Service
(3) General Protocol Recall Service (4) General Packet Radio Service
(5) General Protocol Radio Service

Consider the following statements.

A. In data based management,large amount of data can be stored in organised manner.

B. Data management is more accurate in tradional methods.

C. Admission register of a school is an example of flat file system.

Which of the above statement/s is/are true.

(1) (A) only. (2) (B) only. 3) (C) only.
(4) (A) and (C) only. (5) All of the above.

Given below are some of the advantages of using fiber optic cable over copper wires in data communication.

A. Electromagnetic waves do not interfere.

B. High speed of transmission.

C. Resistance to mechnaical shocks.

D. Ability to wire with shrpe bents.

E. Higher distance of data transmission.

Which of the following consisit of true statements.

(1) (A) and (B) only. (2) (B), (C) and (D) only. 3) (A), (B), (C) and (E) only.
4) (A), (B), (C) and (D) only. (5) All of the above.

Which of the following command is issued to identify that which line, computer or router not functioning as
expected in a computer network.
(1) Tracert (2) Ping (3) IPConfig (4) Netstat (5) Hostname

In system development a feasibility study is conducted by..............

(1) Managers of an organization.

(2) Intended users of the system.

(3) System analysists upon instructions of managers of the organization.

(4) Senior programmers upon instructions of both the proposed users and managers of the organization.
(5) Software engineers.

Which of the following is true about system testing.

(1) Each component of a system is inspected at the implementation phase.

(2) Unit testing is conducted by project manager.

(3) Acceptance testing is used to inspect whether each tested module is combined accurately.

(4) Acceptance test is conducted by software development team only.

(5) Integrated testing is performed by software development team including software engineers and project
managers.

8 bit first compliment and second compliment of decimal 111 is................
(1) 1101111 and 10010000 (2) 10010000 and 10010001 (3) 10010001 and 10010000
(4) 10010000 and 01101111 (5) 10010001 and 01101111

Consider the following statements about HTML.

(A) HTML tags describe document content.

(B) HTML documents contain HTML tags and plain text.

(C) The browser displays the HTML tags.

Which of the above is/are true.

(1) (B) only. (2) (A) and (B) only. (3) (A) and (C) only.
(4) (B) and (C) only. (5) All of the above.




14.

15.

16.

17.

18.

19.

20.

21.

Which of the following is the equivalant boolian expressionto A @ B @ C

(1) A’BC+ AB’C+ ABC’ (2) AB’C+ A’BC’+ A’B’C

(3) A’BC+ AB’C+ ABC’+ ABC (49) AB’C+ A’BC’+ A’B’C+ ABC
(5) AB’+A’B+AC’+A’B+BC’+B’C

A. In Full-duplex data communication always transmission takes place to both direction.

B. A student responds to teacher after a question is asked by the teacher in a class. This ia an example of half
duplex communication.

C. Television broadcasting is an example of half duplex communication.

Which of the above statement/s is/are true about communication.

(1) (A) only. (2) (B) only. (3) (C) only.

(4) (A) and (B) only. (5) (B) and (C) only.

A. The capacity of DVD (digital versatile disk) is higher than a CD (compact disk).
B. Data writing on a CD take place with pits and bumps.

C. Lazer rays are used to read data on CDs and DVDs.

Which of the above statement/s is are true about data storing in optical media.

(1) (A) only. (2) (A) and (B) only. (3) (A) and (C) only.

(4) (B) and (C) only. (5) All of the above.
Which of the following operating system is suitable for a Aircraft Defense System.

(1) Real time (2) Multi Threading (3) Single user-Single tasking
(4) Single user-Multi tasking (5) Multi user-Multi tasking

Study the following statements on waterfall modle of system development.

A. It is more suitable for daily used projects that user requirements are well identified.

B. It is not possible to follow this modle in data system projects always in real world.

C. This model is carried out step by step.

Which of the above statement/s is /are true.

(1) (A) only. (2) (B) only. (3) (A) and (B) only.
(4) (B) and (C) only. (5) All of the above.

Autonomous, Problem Solving computational entities capable of effective operation in dynamic and open
environments are defined as...................

(1) Evolutionary computating

(2) Agent Technology

(3) Ubiquitous computing

(4) Von-Neumann concept

(5) Quantum computing X=10

Consider the given flow chart to answer question 20 and 21. l

What are the control structures used in the Flow chart? =0

(1) Selection only. _

(2) Selection and Sequence only. A "y

(3) Sequence and Iteration only .

(4) Selection and Iteration only. End

(5) Selection, Sequence and Iteration. No
Yes

Which of the following is true about the flow chat.

(1) It stops when i equals 10. izis1

(2) It stops when i equals 11.

(3) It displays 0, 2, 4, 6, 8,10. v

(4) Tt displays integers from 1 to 10. A=i%2

(5) Itdisplays 2, 4, 6, 8 only.

No

A
w
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25.

26.

27.

28.

29.

Which of the following is equivalant to Fxy =(A’.B). (A+ B)’ after simplifying the following
Boolean statement by using De morgan theoram.

(H o 21 3) A 4 B (5) AB
Which of the following is the output of python statement >>>(3+15)%4+3%*2
(1) 6 2)9 3) 1 4) 25 (5) 49

Which of the following is used to send data packets directly to its receiving device in a LAN.
(1) Hub (2) Switch (3) Bridge (4) Repeater (5) Modem

Study the following statments about the given data base table.

STUDENT
INDEX_NO
NAME
DOB

SEX

A. Student is an entity.

B. Index NO field can be used as primary key.

C. NAME, DOB are two attributes of table.

D. Collection of data in all attributes of a certain student is named as a record.

Which of the above statement/s is/are true.

(1) (A) and (B) only. (2) (B) and (C) only. (3) (C) and (D) only.
(4) (A), (B) and (C) only. (5) All of the above.

Study the following statements regarding object relational model.

A. Object oriented computer languages are used to develop a data management system.

B. It can be used in computer aided drawing.

C. Itis also known as Extended Relational Model .

Which of the above statement/s is/are true.

(1) (A) only. (2) (B) only. (3) (A) and (B) only.
(4) (B) and (C) only. (5) All of the above.

Study the following statements regarding physical schema for the development of data management system.
A. ltis close to physical storage.

B. It creates a supporting data structure called index.

C. TItis used by database designers and database administrators.

D. It is an abstracts of whole project.

E. It explains data storing pattern.

Which of the above statements are true.

(1) (A), (B) and (C) only. (2) (A), (B) and (E) only. (3) (B), (C) and (D) only.

(4) (B), (C) and (E) only. (5) (C), (D) and (E) only.

Which of the following statements clearly describes direct implementation in system development.
(1) Introduction of new system with the existing system.

(2) Execution of one segment and execute the other if the first segment is successful.

(3) Introduction of new system after terminating of existing system.

(4) Introduction of new system step by step.

(5) Execution of both systems one after the other.

Consider the following HTML tag.
<img src = “Rose.jpg” alt = “Rose Flower” width = “300” height = “200”>
A. The above HTML tag renders the image named “Rose.jpg” by the browser.
B. The browser knows the size (width and height) of the image, without width and height.

C. The Alt attribute provide alternative information for an image if a user for some reason can not view it.

Which of the above statements are true.
(1) (A) and (B) only. (2) (A) and (C) only. (3) (C)and (D) only.
4) (A), (B) and (C) only. (5) (A), (C) and (D) only.




30.

31.

In which of the followings the Ubiquitous technology is not used.
(2) Customizations of Domestic environments

(1) Customizations of automobiles

(3) Controll of crimes

(4) Location tracking

(5) Design of combinational logic circuits

Which of the following HTML code segment can be used to display following table in a browser.

Contact Details:

Guardian Telephone

Mr.Perera (0718234567 (0372211111

(1) ) 3)
<htmlI> <html> <html>
<body> <body> <body>

<h4>Contact Details:</h4>
<table border="1">

<tr>

<th>Guardian</th>

<th Colspan="2">Telephone</th>

<h4>Contact Details:</h4>
<table border="1">

<td>

<th>Guardian</th>

<th Colspan="2">Telephone</th>

<h4>Contact Details:</h4>
<table border="1">

<tr>

<th Colspan="2">Guardian</th>
<th>Telephone</th>

</tr>

<tr>

<td>Mr.Perera</td>
<td>0718234567</td>
<td>0372211111</td>
</tr>

</table>

</body>

<html>

</tr> </tr>
<tr> <tr>
<td>Mr.Perera</td> <td>Mr.Perera</td>
<td>0718234567</td> <td>0718234567</td>
<td>0372211111</td> <td>0372211111</td>
</tr> </tr>
</table> </table>
</body> </body>
</html> <html>
“) ©)

<html> <html>

<body> <body>

<title> Contact Details : </title>
<table boarder = “1”>

<tr>

<th>Guardian</th>

<th Colspan = “2”>Telephone</th>
</tr>

<tr>

<td> Mr. Perera</td>
<td>0718234567</td>
<td>0372211111</td>

</tr>

</table>

</body>

</html>

<h4> Contact Details : </h4>
<table boarder = “1”

<tr>

<th>Guardian</th>

<th rawspan="2">Telephone</th>
<tr>

<tr>

<td> Mr. Perera</td>
<td>0718234567</td>
<td>0372211111</td>
</tr>

</table>

</body>

</html>
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33.

34.

35.

Consider the given SQL statement to create “STUDENT” and “LENDING BOOK” tables. And answer
question 32 and 33.

CREATE TABLE LENDING_BOOK CREATE TABLE STUDENT
( (

ACCT_REG VARCHAR(10) NOTNULL, STUDENT_ID CHAR(5) NOTNULL,
BOOK _NAME VARCHAR(20) NOTNULL, NAME VARCHAR(25) NOTNULL,
AUTHOR VARCHAR(25) NOTNULL, BIRTHDAY DATE NOTNULL,
DESCRIPTION VARCHAR(75), ADDRESS VARCHAR(25) NOTNULL,
ISSUED_DATE DATE, PROVINCE CHAR(10),

STUDENT_ID CHAR(5) NOT NULL, PRIMARY KEY (STUDENT_ID));

PRIMARY KEY (ACCT_REG));

Consider the following statements.

A. “STUDENT ID field can be used to connect STUDENT and LENDING BOOK tables.

B. Itis compalsory to input data in to DATE data type fields of both the tables.

C. A comma “,” can be used instead of ““ ; ” in PRIMARY KEY(STUDENT ID));

D. It is compalsory to place a comma “,” between two fields.

Which of the following statements are true.

(1) (A) and (B) only. (2) (A) and (C) only. (3) (A) and (D) only.
4) (A), (B) and (C) only. (5) All of the above.

Consider the following statements.

A. STUDENT ID is the FOREIGN KEY of LENDING_BOOK table

B. Itis not complasory to input data to the STUDENT _ID field

C. CHAR data type can be included in BIRTHDAY field of STUDENT table.
D. Itis compalsory to input data to PROVINCE field.

Which of the above statement/s is/are true.

(1) (A) only. (2) (B) and (C) only. (3) (C) and (D) only.

4) (A), (B) and (C) only. (5) (A), (B) and (D) only.

Meaning of software piracy is ......

(1) Stealing of software at home. (2) Coping software.

(3) Stealing of software from manufactuing company. (4) Coping from purchased software.

(5) Making of'illegal copies of software on which the user has no copy right .

Consider the following Karnaugh map.

A
|

Which is the correct logic expression when you simplify it using given values.
(1) A + AB” + CD’ 2) A+ B+ ADC’

3) A+ B+ CD’ 4) CD’'+ A’C+AC+ B
(5)B’C+BC+A’C+CD’

}B

B’

[ S S
[ =Y IS
- S| |
S =1
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37.

38.

39.

Consider the following statements.

A . Operating systems are Utility software.

B . An operating system is needed to control hardware and to manage software.

C. Apple Macintosh is Free & Open source operating system.

Which of the above statement/s is/are true.

(1) (A) only. (2) (B) only. (3) (C) only.
(4) (A) and (B) only. (5) (B) and (C) only.

Which of the following is the correct Boolean expression that corresponds to output “F”.

A. (ATB)+(A.C) A

B. (A.B).(A+C) _j@—‘
C. (A+B)(A.Q) B F
D. (A+B).(A+C) {>O ZD :

C
(1) (A) and (B) only. (2) (A) and (C) only. (3) (B) and (C) only.
(4) (B) and (D) only. (5) (A), (C) and (D) only.

Consider the following ER diagram.

PatientNo @
m n
Patient ‘ || Owner ||

Which of the following statement/s is /are true.

A. Owner is an Weak entity.

B. m:n is the cardinality coefficient of above relationship.

C. DOB is a “stored attribute” while “Age” is a derived attribute.

(1) (A) only. (2) (A) and (B) only. (3) (B) and (C) only.
(4) (A) and (C) only. (5) All of the above.

Consider the following statements.

A. Fequent Refreshing take place in DRAM while SRAM has no such fequent refreshing.
B. Cache Memory belongs to the category of SRAM

C. Present day most of computers has SRAMS.

Which of the above statement/s is/are true.

(1) (A) only. (2) (B) only. (3) (C) only.

(4) (A) and (B) only. (5) (B) and (C) only.
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42.

43.

44,

Consider the following HTML tag.

User name:<input type= “text” name= “username’ >

A. It defines a one line input field that a user can enter text.

B. Itis the correct HTML tag for creating a text input field.

C. Itis the correct HTML tag for creating a text area.

Which of the above statement/s is/are true.

(1) (B) only.
(4) (A)and (C) only .

(2) (C)only.
(5) (B) and (C) only.

(3) (A) and (B) only .

Which of the followings is the correct statement regarding IP addresses and subnet masks.
(1) 192.156.6.3 is an example of class “B” IP address.
(2) 6(six) host computers can be connected to a network with a subnet mask of 255.255.255.148 .

(3) 1IPV4 addresses contain 8 bits.

(4) 220.32.1.5 is an example of class “C” IP address.
(5) 255.255.0.0 is an example of class “C” IP address.

Which of the following layer of OSI reference model that is responsible for data transmission through a

communication media.
(1) Transport layer
(4) Network layer

(2) Session layer
(5) Data link layer

(3) Physical layer

Which of the following python statement is syntactically correct to display multiplication table?

(1) forj in[2,3,4,5]:
print(Multiplication of ; j)

for k in range(1,12):

(2)for j in[2,3,4,5]:
print(‘Multiplication of : ’,j)

for k in range(1,12):

(3) forj in[2,3,4,5]:
print(Multiplication of : , j)

for k in range(1,12):

Print(j*K) Print(G*K) Print(j*K)
Print() Print() Print()
(4) forj in[2,3,4,5]: (5) forj in[2,3,4,5]:
print(‘Multiplication of : ’ j) print(‘Multiplication of : ’ j)
for k in range(1,12): for k in range(1,12):
Print(j*K) Print j*K
Print() Print()
Consider the following python statement.
Datalist=[52,90,67,99]
foriin DatalList:
if i< 90:
print(i)
break
print(‘end')
Which of the following is the correct output.
(1) 52 (2) 52 (3) 52 (4) 52 (5) 52
end 90 90 90 end
67 67 67 90
end 90 end
end 99

end
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46.

47.

48.

Consider the following python codes.
>>> List1=[5,6,7,8]
>>> List2=[9,10,11,12]
>>> L=List1+List2

>>> Print(L)

Which of the following is the output of it.
(1) 5,6,7,8,9,10,11,12 (2) [5,6,7,8]+[9,10,11,12] (3) [5,6,7,8,9,10,11,12]
4) (5,6,7,8)+(9,10,11,12) (5) Listl[5,6,7,8]+List2[9,10,11,12]

Consider the following python codes.

def fun(a):
i,c=1,a[0]
while i<len(a):
if (a[i]) >c:
c=ali]
i=i+1
return i
print(fun([9,3,11,15,-1]))

Which of the following is the output of it.
(1) -1 2) 3 3)5 4) 8 5) 15

Consider the following incomplete python code segment that is used to arrange data items of “marks” data
structure in desending order.

marks=[28,75,52,89,68]
datacount=len (marks)
fori in range(datacount-1):
for k in range(i+1,datacount):

o marks[i],marks[k]=marks[k],marks[i]

Which of the following is the suitable statement to fill in the blank.

(1) marks[i]<marks[k]; (2) marks[i]>maks[k]; (3) marks[i]=marks[k]:
(4) marks[i]<marks[k]: (5) marks[i]>marks[k]:

Consider the following python statement.

A=32.7

B={'Age':21,'Name'":'Perera'}

C=(28,95,'"Kamal')

D={5,10,15,'sarath'}

Which of the following contains relevant data types for A, B, C, and D respectively.

(1) float, tuple, list, dictionary (2) integer, dictionary, list, dictionary
(3) float, dictionary, tuple, dictionary (4) float, tuple, dictionary, set

(5) float, dictionary, tuple, set
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50.

Consider the following python statement.

data=[25,28,30,40,85,92,100]
foriin data:
if i>=40:
print(i, end=",")

Which of the following is the output.

(1) 25,28, 30
(4) 40, 85,92, 100

Consider the following python statement.

(2) 25, 28,30,40

(3) 85, 92, 100

(5) 25, 38, 30, 37, 85,92, 100

fol=open('numbers.txt','r')
fo2=open('store.txt','w')
line=fol.read()
data=((line.strip()).split(','))
forval in data:

fol.close()
fo2.close()

fo2.write(("{0:d} \t {0:x} \t {0:b}\n".format(int(val))))

Contents of number.txt is given below.

2,5,10,12,15,20

Which of the following is the content of store.txt after execution of the program.

10

10
10
10
10
10

(M
@

(NS TN NS I \O I S I ST \S )
DN L D I D

(3) 2d  Sx 10b
2d  5x 10b
2d  5x 10b
2d  5x 10b

2d 5x 10b
@ 2 2 10

5 5 101

10 a 1010

12 c 1100

15 f 1111

20 14 10100
5 2 5 10

2 5 a

10 101 1010

12

12
12
12
12
12

12n
12n
12n
12n
12n

12
c

1100

15

15
15
15
15
15

15

f
1111

20

20
20
20
20
20

20
14
10100

10




